T ERTER (401)

THE4 | R4t S ¥ - AE WIITE (2)  FEOFHEES) FHEN Sy 7)1 e fes
THEX5y SRR
THX 5y - AR - R - A Bikk HLAZ ¥ (mifa)) e (4m) sl e
FIR BT
= 1
)+
= 1
A L
= 1
{7 DR S 4 )
m3 4,700
R B GRS EAIR Y L&)
m3 4,730
LR L
= 1
LR (8] 130) BUGH L, PE A L RO
L4 T
m2 1,190
R A i) TR o M L, BISGHIR e L
m2 1, 880
AT
= 1
a1y
m3 4, 920
ST
= 1
- e U




T ERTER (401)

T=H4 | R4t R #F - HEEJE #JIIEE (2)  GEHOFREER) FEXS SEIPI S
TEXS e
THFXSy - TFE - FER - A5 ks BT o (il HE (5E) Bk T 2
B2+ T
= 1
PRYE Y +8:
m3 250
HWRL +E XSy +wb, 1B ab
m3 60
D E +E A CEBE EEIRY HETe)
m3 190
/)Y =7 my) T (7 ny ) )
= 1
LV AR VAPV P 2y )Y - MEFE : 18-8-40 (B 4F) , JEEMR - 40
cm, i & :50cm
m 154
7T ey )R 7Ty )R A RE, 7 ny ) RS (TR D
Y E) HEME130mm
m2 627
7 ny ek 7 my pAS AR, 7T my S HLR (B AR
A (AT 130mm
m2 524
MR T
=; 1
Hedav)-h 29 ) - MEFE 1 18-8-25 (5 UF) , i X013
cm
m2 25
AT
= 1
9 T I




= 2 N = IR/
T HE e

fhZe (AR01)

THE4 | R4t S ¥ - AE WIITE (2)  FEOFHEES) FHEN Sy 7)1 e fes
THEX5y SRR
THX 5y - AR - R - A Biks HLAZ ¥ (mifa)) e (4m) sl e
2 R R T, M TR 500m2 8L E
m2 1, 880
G an
= 1
T HER T
= 1
THEMERE T i T 2 4. omPA B
m3 30
+o5
% 150
T E
m3 180
a1y
m3 180
TG 1k 1T
= 1
155 17 2 VEHEIX Sy 3% - 2=
m 20
[EREMNE S ¢
= 1
BT
= 1
g e U




=Ry

it fEae (AN01)

THE4 | R4t S ¥ - AE WIITE (2)  FEOFHEES) FHEN Sy 7)1 e fes
THEX5y SRR
THX 5y - AR - R - A Bikk HLAZ ¥ (mifa)) e (4m) sl e
@R A
= 1
HE( 2
= 1
ARARFIL Sy B
= 1
M@kt (G L)
= 1
T
= 1
Bl E
= 1
TRl
= 1
— A B
= 1
T liA%
= 1
THABIRE K O 5 1 2 B4
= 1
THEGE
= 1
- TR I




